FPRLEZFRMRBFEAGEF BT A 6
7 B % 6 % % R ¢ #& & &

P t112# 117 26 p + = 10 p%
pE g B4
B

MR AR MG BRI PUSH R EAP LR LR X
# B L 3K VAR N BR4E 7 }&ﬁ\ﬁﬁ%\iﬁ C BB~
2 ® iy~

LN B AN 1 ST _/’}'\‘Fﬁ 3o~ P S
E-mS%E - YR E
CirEA R AR B R e
PRAR S AEEHET 3 48
= R MiEdp ki Bl
L4 P gRARERGEET
-~ i 0 F MAeR 2023 & #7 ICD-10 0 4 ¢ 412 12023 & ICD-10 #74 J;
Lo R T ICD-11 Y FLEAI 0 R LA RS o
S A EERFRTRELE R LR EF A EFRRITLBELK

5 7

N
ra
b
=
>~
i}

% b

/

Iy

4 g o

S B R L FRRET 27 (A9) FhriEE G
N
7~ g8

e AEERARFTAAMEIE > ZARETAZY 38 iR 4352 4p
MR %P 74 B2 RE#RE  AEERARERBEES TN ENKE
B- B o ATFIRAANFETALE N ERLR CRME FHBHET D

14

4
(=
1
S

R

e

=
a\
G 4;&{
N

1
- S
o

A f"ﬂ

(o

[T TR
:1

ety

o

- ~RAgAEQT 10 p I FH %F%?’%Ii 72023 # ICD-10 #7 TR 8 R e
T ICD-11 ¥ ¥ 4734 § | F MWz -
S ~AkgmAEQY 18P ~ZOB ~ 22 p 7432 TICD- 10‘”%127,% vE R T
ICD-11 # f 'm’ﬂ:'ﬁﬁg BE®R | R30I G KA
\xgwﬁﬁllﬂBpﬁ@ﬁﬂfﬁf«ﬁﬁf&??fhéﬁL 15
WAL ©
o kg A 110 15 pyER T Er B @ RFRS  H£2 8=
ow oA e
ARG
—\dxgrﬁunizﬁrﬁwﬁ FTEZR I MBLETLRFHEANAE

&l
97 Tp fi %253 3R

W

B



S AEgmAEL R FREFETAE 100 12 p 4 112 &9 ?5
RIF RIELARRI 2% 1€k -

ERNE R 1 N W CONE ST R RNC R S Wﬁlﬁiﬁ ﬁiA%%ﬁ
109 159 %4 ? 4§ TS 514 R 6%, F2mg T% 12E% 4=
SRR €k

B AEMAEERRIFNAELLY 160 2t E TE AT €3,

I~AEMAFL AR - ERLETLAARE MAll ZL A I AN rE
117" 23p 3 B %" %”’“”‘ﬁ“* sp Mo ng%i,ﬁ.}?spéfﬂ%;igllf e 112 &
¥4 G R G RO G R)

EZQRE S R OF £ 3=
- % BREH ¢
Fd aEgETe FRERFRRETF i o
P
1. B?%?ﬁ%%£&%{ﬁ%ﬁ\ﬂ§ﬁ\ﬁ PR AR~ 4
g%&ﬁ‘%gﬂiikﬁ‘né.,,pdw?f ‘:JF%F%}%‘P?DMTR:‘_ e i
FehFe FF'&pﬂb ELANE
2. 7 Fenk FREL D2 T FFRRIE > F T F A B RF R L R
30
3. @Y FRNLFTHIRY o M A RPRMHAREEY NRAL R
X
%&tgﬁﬁﬁgﬁﬁﬂl \RERGERFRREF T E S AA FRE S
F A REER S -
Ak T e
%o % BEHEE D AE
%ﬁiqd mAvi P F G 5.
P
Lope Fafes L R3NMLeris > @ FHpAI FEETH

2¢%F%ﬂ%ﬁﬁﬁﬁm%%m%mﬁ&ﬁJ’Hﬁﬂﬂ¥ﬂ“$°
Lk RE RIS

=% BEHE Mg
2d D MAg e AFTAAMITN Gt e
W
LiT# Rptph 2 FF P XA L PR~ P2 S BAERSFE 0 g p
FRAL DB o
2113 F R ¥ 15 cnfAl A I FTHAKI 27470~ > At 5 4.05% -
3. » FULFAAFFTEEAF it A g i F FF B2 AFIIA
#*
Efd, 108 & 109 & 110 & 111 & 112 & 113 &
%i7ﬁ;§
LI N ? 23,100 =~ | 23,800 =~ | 24,000 =~ | 25,250 =~ | 26,400 =~ | 27,470 ~
oA A 150 =~ 158 ~ 160 =~ 168 =~ 176 =~ 183 =~




Ak
L FURF AR FFTEEDFE U [k - %%lé@ﬁ%ﬁq% * ¢
#1243 117 # 12”""‘*&@?4”&%\% F‘*’@ﬁ”égﬂ"ﬁ
RPSHALZRA P EE RS HFA
2M3ﬁ%€#§ﬁ@ﬁ;4nwm¢{u3ﬁﬁﬂi
B R AFETAERR AR o

2
= \
2 i

(=
W
&N
“m
2
\m
>~
fods
=
b,
34
A

ek BEHE o Ag
*d 'ﬂ%%fﬁwﬁﬂﬁﬁjﬁﬁ’%iﬁﬁ£%WQ§@§w%ﬁ%“

1‘% PFEFRBFREI L2 LR LFRABEFFY ot
Q‘%ﬁ\ﬁﬁiaBﬁ%ﬁﬁ%%y,&%@gg%ﬁié§g%§ﬁi
.5 o
w7

2. Gy %‘Av\%‘r?gl‘*%ﬁifﬁ%;”‘wp ] "?F;%.H"’éﬁ_’{; ) u},%ri_,gﬁiz_’_;/,;

Z_ b l}IJ_E-f’ .,L,F‘L s 1 IF; 7?}\—:7& = < _Eﬂ,yfiPﬁgFFﬁ: Z:Q o
Ak R 26 -

$7 % FE S SN
Fod it T AL R g R
B
- =
2 - |z |z |w | I = 2 i = =N - A
12 3 1

LA o lsl6 |7 9 10| | 3 |4|5|6|7]|8

B REF§ LR BARAREH

11 |12 |13 |14 | 15|16 | 17 L0 111213 /14| 15 |16

18 |19 /20|21 |22|23]| 24 AT 118(19(20 (21| 22 |23
w20 26|27 |28 |29 2% 25| 26|27 28| 29 | 30
RER~EC5) *<gag g

31

AR IR I3 E 20 B S RETEFTRAR £
BEHE-: Ag

d D FRAE112£2087 1100 SRR A e

Atk LU e

~

BB
W

B TREERA R
A IR

-



